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Let x, be an initial guess, and put r, = b — Aux,.
For k£=0,1,..., do:

Thil = ...,
compute K 1y, |,

end
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Let @y be an initial guess.
repeat
set rgp=b— Axy
approximately solve Ap = rp using some iterative method to get p,
set gy = Apy
for k=0.1,....m—1
(re. qi)

(4 q)
Ljy1 — Tp + Py

Tyl = T — Oy

if || Tril ||2£ EroL’

r. —

|7y |2 then exit

approximately solve Az = vy, using some iterative method to get zp,,

.lr?k.'i _ _[‘4z§:|11{1i}- ; {_: r{C
\q;-4;)
i
Pry1 = Zk41 ‘|‘Ze-’3;:.fi'3'z'
i=(l
[
Gy = Az + Z.‘lﬁk.iqf
=0

end for
To = Tin
end repeat
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Theorem 1  Suppose that A is nonsinglar and the condition r; # 0 holds for non-negative
integer k. If the vector z;, exists for a constant 0 < @, < 1 such that

|re — Azplly <Ok [I7illy

then we have the inequality

[P lly < Ok 7ell, -
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1, 20WTn—HFOREA2T- LG NEREZIFIET 5
Lo (1) [rkss = Az [/ lIreall < 0.
2) 1211 — 2t oo/ 2101 oo < 6.

2. (NHREOKEEE D = N,
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e M=100
e Y=10, B=-80
e GCR(mM)i&IZHLITmM=15
. NEREDEEEY [nl/ln]=10""
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* Nmax = 50
x0=1.0x10"1
« SOREDGE = ME/ T A —4% w=1.70
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